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1111 (a 17 B1 cao 

 (b) 12 B1 cao 

 (c) 5.5 B1 
Accept 

2
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 , 5 1
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3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

8 (a) 43 B1 cao 

(b) ± 20 or ÷ 3 B1 for ÷ 3 RU ± 20 RU × 1
3

 RU���±20 

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

19 17 M1 for correctly expanding the bracket, as part of an equation to get 
4x – 24 = 44 
RU for dividing both sides of the equation by 4 as a first step,  
eg ସ(௫ି଺)

ସ
 = ସସ

ସ
  oe 

Award M1 for an embedded value of 17 if not 
identified as the answer 

A1 cao 
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3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

1212 (a 11 B1

 (b) 22 M1 ++3 and ÷2 could be seen in a flow diagra
Evidence could be provided by algebraic
statement, numerical statements or by
diagrams

A1

 cao 

Starts to find input using inverse operations, 41 + 3 (= 44) 

RU sight of +3 DQG ÷2 

RU derivation of equation eg 2n – 3 = 41 

 cao 

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

10 (a) 12 B1 cao 

(b) 4 B1 cao 
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3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

15 (a) 2a + 2d B1

 (b) y(6y – 5) B1 

Accept 2 × a + 2 × d 

Accept y × (6y – 5) 

 (c) 11 M1 

 cao

cao 

for isolating x terms, eg 4x = 37 + 7 or 4x = 44  
RU for x – ଻

ସ ସ
 = ଷ଻ 

A1 

RU for 37 + 7 = 44 followed by “44” ÷ 4 (= 11) 

cao 

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

8 (a) 7 B1 

(b) 6 M1 

A1 

cao 

for 4n (= 24) or 24 ÷ 4 

cao 
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3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

12 (a) 9 B1 

(b) 6 M1 ·11 and í8 coXld be Veen in a floZ diagram  
Evidence could be provided by algebraic statement, 
numerical statements or by diagram 

A1 

cao 

starts to find input using inverse operations eg 154 ÷ 11 (= 14) 
RU indicates  ÷ 11 DQG í 8 
RU derivation of equation eg (8+ n) × 11 = 154 
RU�starting to solve for unknown eg 154 í 8 × 11 (= 66) 

cao 

4��

3DSHU��0$����)�
4XHVWLRQ� :RUNLQJ� $QVZHU� 0DUN� 1RWHV�

28 Shows 
reasoning to 
reach y=3 

M1 

M1 

48÷3 (=16) 

M1 

A1 

forms equation 
eg 2x + 6 = 5x ± 9 

isolates x and number 
terms 
3x = 15 

VXEVWLWXWHV ³5´ LQWR VLGH 
length 
eg 2 × 5 + 6 (=16) 

48÷16=3 RU�16×3=48 

forms equation 2x+6 ³16´ 
RU�5x ± 9= ³16´ 

isolates x and number terms 
2x= ³10´ RU�5x   ³25´ 

shows x=5 for both solutions 

3(2x + 6) = 48  RU�
3(5x ± 9) = 48, condone 

missing bracket 
Isolates x and number 
terms 6x   ³30´ RU�15x = ³�5´ 

forms the second equation 

x=5 from 2 different 
equations. 

3DSHU���0$���)�
4XHVWLRQ� :RUNLQJ� $QVZHU� 0DUN� 1RWHV�
���

� �
�

0��

0��

IRU�FRUUHFW�H[SDQVLRQ�RI�WKH�EUDFNHW�RU�GLYLGLQJ�DOO�WHUPV�E\���DV�D�ILUVW�VWHS�
HJ��[�í��RU���[�±������ ���[�±������
IRU�LVRODWLQJ�WHUPV�LQ�[�RQ�RQH�VLGH�RI�DQ�HTXDWLRQ�HJ��[�±���±��[� ��í��RU�ERWK�
FRQVWDQWV�RQ�RQH�VLGH�RI�DQ�HTXDWLRQ��HJ��[�� ��[��í���������IW��[�±��� ��[�í���

$��
IRU�� �

�
�RH�

4��

4��



www.yesterdaysmathsexam.com 

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH��
��� �D�� )XOO�ZRUNLQJ�VHHQ� 0��

0D\�EH�VHHQ�LQ�ZRUNLQJ�RU�RQ�GLDJUDP�

0��

&��

�E�� ���� 0�� ��[� ��������

$��

IRU�DQ�LQLWLDO�VWHS�ZLWK�WKH�H[SUHVVLRQV���
HJ�GRXEOLQJ�ʹݔ ൅ ͳ�RUݔ� ൅ ʹ�RU�KDOYLQJ��[��
RU�IRU�LGHQWLI\LQJ�&'�DV�[�����RU�IRU�LGHQWLI\LQJ�'(�DV��[�����

IRU�DQ�H[SUHVVLRQ�IRU�WKH�WRWDO�SHULPHWHU��
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3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

25 3.8 M1 

2

for a correct first step,  
eg 5 – x = 2(2x í 7) or 5 – x = 4x í 14 or 5 – x

2
 = 2x – 7 

Method must show LHS ×2 and both terms on 
RHS ×2 or 5 – x and both terms on RHS ×2 

M1 (dep) for isolating terms in x  

2
eg 4x + x = 14 + 5 or� � x í 2x = í 7 �

5
2

eg í4x both sides with í5 both sides 
or +x both sides with +14 both sides 

A1 oe 
Accept 

19
5

, 3
4
5

oe but not 
�19
�5

 oe 
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3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

16 (a) Explanation C1 for explanation, eg AB cannot be zero (cm) 
RU shows AB to be zero, eg 4 × 0.5 – 2 = 0 

Accept say ‘AB would then be 0’ 

(b) 2.5 P1 May be seen on diagram 

P1 

for a correct expression for AD, eg 3(4x – 2) RU 12x – 6 

25  2(3AB + AB) = 64 oe RU 3AB + AB = 32 oe RU AB = 8 

25 for an equation with mixed variables,  
eg. 6AB + 2(4x – 2) = 64 

for forming a correct equation in x,  
eg  4x – 2 + 4x – 2 + 3(4x – 2) + 3(4x – 2) = 64  RU  4x – 2 = 8 
RU 4x – 2 + 3(4x – 2) = 32 

A1 cao 4��
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3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

16 19 P1 

P1 

P1 

This mark may be awarded for a correct but 
unsimplified equation,  
eg. 2x ± 5 + x + 1 + x ± 1 + 2x = 52 oe 

Trial & Improvement attempts must be fully 
correct giving x = 9.5 before any credit given 

a, b and c must be clearly stated but need not 
be correct 

A1 

for process of finding perimeter in terms of x, 
eg 2x ± 5 + x + 1 + x ± 1 + 2x oe 

for process to form equation, 
eg ³6x ± 5´ = 52    

(dep on P2)  
for a correct process to find x, eg (52 + 5) ÷ 6 (= 9.5) 

RU for a correct process to find 2x, eg (52 + 5) ÷ 3 

RU�ft an equation of the form ax + b = c,  

cao 

4��


